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D o) 3ei-§ri=}
b) 2+45=F+is=F (=%as asimplified fraction)
o) 1+Z=5+3 =5 (=Lasasimplified fraction)
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1) a) Falsed+i=4+5=4%
b) Tuedrf=fe =g e
o Tued+i=fri=rg
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d) Falsel+i=h+5=10

Harvey ate 2 which i equivalent to 75, so he ate § slices.
Jacques ate {; which is equivalent to 7, so he ate 3 slices.
Harvey ate the most pizza.
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2 are green.
L are blue, which is equivalent to 5.

1/3 are white, which is equivalent to 5.
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This leaves 5 which are red and yellow.
There are 3 possibiliti

Possible solutions:
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